
§·¤æ§ü / Unit-I

1. çÙ`ÙçÜç¹Ì ·¤ô âÚUÜ ·¤èçÁ° Ñ
Simplify the following :

4 3 3

2 2 3
2 3 5

6 10 15
 

 

¥Íßæ / OR

(a) çÙ`ÙçÜç¹Ì â×è·¤ÚU‡ææð´ ·¤æð ÌéÜÙæˆ×·¤ çßçÏ âð
ãUÜ ·¤èçÁ° Ñ
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ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤ â×æÙ
ãñ´UÐ ÁãUæ¡ ¥æßàØ·¤ ãUô »‡æÙæ ·¤æØü ¥ßàØ ·¤èçÁ°Ð Üƒæé»‡æ·¤
âæçÚU‡æè °ß¢ »ýæÈ¤ ÂðÂÚU ×æ¡»Ùð ÂÚU ÂýÎæÙ ç·¤Øæ Áæ°»æÐ

Note : Answer all questions. All questions carry equal marks.
Give calculation wherever necessary. Log table and
Graph paper may be provided on demand.
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Solve the following equations by comparison
method :

7x + 3y – 44 = 0
3x – 2y – 9 = 0

(b) ØçÎ 
2 1
3 4

A  
  
 

 ãUæð, Ìæð 3A+5I ·¤æ ×æÙ ™ææÌ

·¤èçÁ°Ð

Find the value of 3A+5I, if 
2 1
3 4

A  
  
 

.

§·¤æ§ü / Unit-II
2. çâh ·¤èçÁ° ç·¤ Ñ

Prove that :

2 2 2
tan sin .cos

1 tan cos sin
A A A

A A A


 
¥Íßæ / OR

(a) çÙ`ÙçÜç¹Ì ·¤æ ×æÙ ™ææÌ ·¤èçÁ° Ñ
Find the value of the following :
tan 60o cosec2 45o + sec2 60o + tan 45o

(b) çÙ`ÙçÜç¹Ì ·¤æ ×æÙ ™ææÌ ·¤èçÁ° Ñ
Find the value of the following :

sin 105o

§·¤æ§ü / Unit-III
3. ¥æñâÌ ™ææÌ ·¤èçÁ° Ñ

ß»ü ®-v® v®-w® w®-x® x®-y® y®-z® z®-{® {®-|®

¥æßëçîæ { vx wy yv w® vw |

( 2 )
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Find the average :

   
Class 0-10 10-20 20-30 30-40 40-50 50-60 60-70

Frequency 6 13 24 41 20 12 7

¥Íßæ / OR
·¤ÚU ×ð´ 30% ·¤è ·¤×è âð ©UÂØæð» ×ð´ 30% ·¤è ßëçh
ãUæð ÁæÌè ãñUÐ ÚUæÁSß ×ð´ ·¤×è Øæ ßëçh ·¤æ ÂýçÌàæÌ
™ææÌ ·¤èçÁ°Ð
The consumption increases by 30% if the tax
decreases by 30%. Find the percentage increase
or decrease in revenue.

§·¤æ§ü / Unit-IV
4. °·¤ ¥çÖ·¤Ìæü Ùð ÌèÙ S·ê¤ÅUÚU ·ý¤×àæÑ G 5,400,

G 3,300 ÌÍæ G 5,250 ×ð´ Õð¿ðÐ ©Uâ·¤æð ÂãUÜð S·ê¤ÅUÚU
ÂÚU 20% ¥õÚU ÎêâÚðU S·ê¤ÅUÚU ÂÚU 10% ·¤æ ÜæÖ ãéU¥æÐ
ÂÚU‹Ìé â`Âê‡æü Üæ»Ì ÂÚU 3% ·¤è ãUæçÙ ãéU§üÐ ÌèâÚðU
S·ê¤ÅUÚU ·¤æ ·ý¤Ø ×êËØ ™ææÌ ·¤èçÁ°Ð
An agent sold three scooters for G 5,400, G 3,300
and G 5,250 respectively. He had a profit of 20%
on the first scooter and 10% on second scooter.
But there was a loss of 3% on the total cost. Find
out the purchase price of third scooter.

¥Íßæ / OR

°·¤ çß·ýð¤Ìæ ·¤æð ·é¤Ü çÕ·ý¤è ÂÚU 10% ·¤×èàæÙ ÌÍæ
G 5,000 âð ¥çÏ·¤ ·¤è çÕ·ý¤è ÂÚU 6% ÕæðÙâ
ç×ÜÌæ ãñUÐ ØçÎ ©Uâð ·¤×èàæÙ G 2,600 ÂýæŒÌ ãéU¥æ
ãUæð, Ìæð ©Uâð ç×ÜÙð ßæÜæ ÕæðÙâ ™ææÌ ·¤èçÁ°Ð



( 4 )
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A salesman receives a commission of 10% on
the gross turnover and bonus of 6% on the sum
exceeding G 5,000. If he gets G 2,600 as
commission, then find the amount of bonus.

§·¤æ§ü / Unit-V
5. (a) ßã â×Ø ÕÌæ§° çÁâ×ð G 550 ·¤æ 4%

ßæçáü·¤¤âæÏæÚU‡æ µØæÁ ·¤è ÎÚU âð G 605 ãUæð Áæ°¢»ðÐ
Find the time in which  G 550 will amount to
G 605 at 4% per annum simple interest.

(b) G 1,000 ÂÚ 5%U ßæçáü·¤ ·¤è ÎÚU âð ww ¥ÂýñÜ,
w®v{ âð ~ çâÌ`ÕÚ,U w®v{ Ì·¤ ·¤æ âæÏæÚU‡æ
µØæÁ ™ææÌ ·¤èçÁ°Ð
Find the simple interest on G 1,000 at 5%
per annum for the period from 22nd April,
2016 to 9th September, 2016.

¥Íßæ / OR
(a) ¿·ý¤ßëçh µØæÁ ÂÚU ·¤æð§ü ÏÙ 4 ßáü ×ð´ Îé»éÙæ ãUæð

ÁæÌæ ãñUÐ ç·¤ÌÙð ßáü ×ð´ ØãU ¥æÆU »é‡ææ ãUæð Áæ°»æÐ
A sum of money placed at compound interest
doubles itself in 4 years. In how many years
will it amount to eight times ?

(b) G 15,000 ÂÚU 6% ßæçáü·¤ ¿·ý¤ßëçh µØæÁ ·¤è
ÎÚU âð 7 ßáü ·¤æ ¿·ý¤ßëçh µØæÁ ™ææÌ ·¤èçÁ°Ð
(Üƒæé»‡æ·¤ âæÚU‡æè ·¤æ ÂýØæð» ·¤èçÁ°)
Find the compound interest on G 15,000 @
6% per annum compound interest for 7
years. (Use log table)

———


